H20 110 3
1 HIB | 1oy | M21 | Tga| 92 0.15ha -
82 3
2 Hio | Hat W21 |83 a1 o -
3 H19 | H21 | Ho1 | 113 138 091ha -
60
4 Hio | Hat W21 | S 76 0.41ha -
5 H2o | H21 | Ho1 | 66| 64 0.18ha -
H18 240 3
6 H16 | H19 | H21 | 65| 262 0.61ha -
H20 263 46.86ha
1
100 0.03ha
7 Hig | Hoo W21 | 100 80 o -
153.7m
11.95ha
8 Hoo | H21 | H21 | 16| 19|5.31ha 455m -
16167ha
9 Hoo | H22 | H21 | 104 03 -
)272.8m
Ha 5,040 _ H12
10 S60 | H12 | H21 | 5320 8020 h:f’gz‘r"o
H21 7868 > H17
11 H19 | H21 | H21 | 130 133 L=6506 -




L=15,693.7

12 H15 | H2L | H21 | 3900 3648 L= 42026
N=1
13 H15 | H2L [ H2L | 160 160 L=1438.9
14 H18 | H22 [ H21 | 140| 140 L=1659.5
15 H15 | H20 [ H21 | 252 273 -
16 H19 [ H2L [H21 | 72| 63 1
17 H18 | H2L [ W21 | 112[ 112 1=926.5m
18 H16 | HoL | Ho1 | 720|714 L=4,612.8m
19 H19 | H2L [ Ho1 | 136 167 L=2,089.5m
L=2,582.5m
H18 1,780 L=9,450.8m
20 H14 | HL19 | H21 | 1954 | 2,075 T
Ha1 2356 N=5
N=1
1 L=1,755.0m
H20 1,383 e
) 852.0
21 HI6 | 151 | H2L | 5,1 | 1475 27

A=3200m L=200m




=13.0ha

22 20 | 21| 21 66| 65 : .
23 18 | 22 | 21| 122 90 = 203ha -
= 46.0ha
24 19 | 21 | 22 40| 40 L 360 _
30m
25 H20 | H21 | H21 | 290 192|-3 5409 2 -
-3 86m
1
26 H19 | H21 | H21 | 180  172|'-2m 160m .
10,666 9m
27 H18 | H21 | H21 | 280 428 s0.0m .
28 H18 | H21 | H21 | 300] 373 130m  62.0m .
2 60.0m
357.6m 27.0m
H23 3810
29 H14 | H23 | H21 | 2660 1,631 H18
! ! 1 31.0m 2
H21 1631 1550 -2 6860 -3
10,500 -2 60.0m
-3m 80.0m 3,620
20
27 9
H20
30 Hi9 | 1120 | M2t | 440| 387 18 -




25285

31 H13 | Ho2 | H21 | 645|848 H17
50379.3
32 HI3 | H2a | Ho1 | 1063 764]  4icio, H17
H19 1,658 56 9380
33 H13 | oy | Hee | 190 73t H17
4 0436
H22 1915
34 H12 | H22 | H21 | 1619] 1292 65,169.56 H16
H21 1590 54.22ha
10
231km H18 2,400 H10
338 Wmin=3.0m Rmin=gm H22 2400 L=2,354m
£ Imax=12 HL | oo | H21 | 2lgso| 3240 W=60 80 m :ig
H21 3200
17.0km
4 104 }
36 H19 | Ho2 | H21 | 513] 513 \'511%201%0
Wmin=3.5m Imax=8.3 e
L=15,000m H10
37 55 | H22 | Hot | 9800 7,710 L=7,600m H15
L=5,027m H20
N=1
38 Hi4 | H16 | H21 | 360| 384 N=1 -
N=1
L=193m
39 H14 | H17 | H21 | 190] 212 L=88m

L=332m




A=830m2

40 H12 | H19 | H21 | 320] 209 A=3,200m2
N=1
L=680m
4 H14 | H19 | H21 | 340| 365 L=500m
L=110m
L=700m
42 H4 | H25 | H21 | 640| 631 L=700m H19
N=4
43 H13 | H22 | H21 | 289 317 N= -
N=1
44 H14 | H22 | H21 | 400| 518 Ned -
45 H19 | H21 | H21 | 150|160 N=1 -
46 H17 | H21 | H21 | 280] 201 N=1 -
47 H19 | H21 | H21 | 260] 150 N=1 -
48 H18 | H21 | H21 | 180| 195 N=1 -
49 H18 | H22 | H21 | 200| 209 N=1 -
50 H18 | H21 | H21 | 120|107 N=1 -




51 H18 | H20 | W21 | 180] 100 N=1

52 Hi5 | H23 | W21 | 342|249 L=B15m

53 H19 [ W2t [ W21 | 80| 90 L=101m

54 2o | H22 | Hot | 122| 134 L=258m

55 Hi6 | W21 [ H21 | 90| 101 L=167.8m

56 H19 | H23 | Hot | 40| 44 L=90m

57 Hi4 | H22 | W21 | 208|151 L=169.3m

58 Hi7 [ H20 [ W21 | 78] 96 L=288.6m

59 Hi7 | H22 | Ho1 | o8| 64 L=148.2m
10

60 Hi7 | B2 1 | 3501 ass L=50.0m




40

H16 2290 } H12
61 ) H3 | fe [ H21 | 55q| 2567 ( )t=L73sam e
40
( )L=8626m
62 ) Hia | Ha1 | Hat | 1574) 14s0] ()8 —
H25 800 }
63 His | 12> | Har | 8201 434)  A=32.000m2 —
H22 75 ) )
64 Hi7 | 122 | has | 1a30|  oss| _ CT —
40
H23 _
65 H19 Ho1 | 4s0| 274 ( )L=250m —
H21
( )L=320m
N=1
66 Hi2 | H23 | W21 | 1763| 1257 oL —
N=1
3412
H17 7,950 L= 985m
c HIL | bog | M2 | 7456 ©688]  198m 340m -
341
H20 1392 L= 745m
68 H13 | 120 | Hat | Tdl 1est| oo -




